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# 2008 09 10 11 12 13 14 15

il

VAR S S 5.4 7.3 A~16 25,3 221 2131 2.2 2A17.6
=2 707 250.7 A48 4 2657 VI 268, 4 £51.2 2Nb4. 8 £57.3
+ — A b U7 19.5 10.4 1.2 7.0 6.1 8.3 10.6 6.6
~ v ¥ - Nb 6 8.9 7.5 A10.3 204 5.1 3.9 6.4
7 5 v v £30.9 2264 A79.2 A76.5 A8h 4 £80.0 A101.7 AB4.8
7 Vv o H 7 212.0 242 ~0.9 0.2 20.5 0.7 0.7 0.0
7 F 5 4.1 2L0.3 257.5 AL8.T 2646 AB8.0 2418 AB4.5
F D) £26.7 32 3.1 £726.8 2118 A13.2 29,0 £726.6
o 420.6 243.3 237.8 136. 1 215.4 148.2 236.0 293.0
a o v ¥ 7 £26.5 YA 186 797 2116 A12.4 ~19.8 A18.7
= S A 7~2.6 20.5 ~1.2 22,3 A2 4 224 225 21,9
F ES a s £20.6 £0.2 £20.1 201 £0.1 0.0 0.2
7T oy X = 7 10. 4 L4.5 A4 £5.0 £33 AN 0.3 0.8
r A F =7 £2.2 1.2 21.2 22.7 20.5 26.7 314 25.0
7 4 v 7 v F 7.5 0.5 0.3 0.3 204 0.1 02 0.4
7 7 M 2 2204 4.9 3.8 239 253 ) 237 £2.2
r A b4 211.7 215.0 216.6 NI 2259 NIA 227.9 289
¥ Dj v 7 A53.9 197.6 188.8 209.8 253.2 247.5 282.2 289.6
Ny ) = AT11.3 £40.9 £30.2 £24.9 L8717 L34 £1.7 £1.6
7 A4 A 7 v F N £20.8 0.4 0.8 20 4.8 1.7 2.9
1 M F £26.2 212 £0.8 £0.7 £0.5 1.0 0.8 1.0
4 v F v 7 0.1 L34 L4812 A78.3 L83 4 £32.8 £26.8 £22.5
7 4 Vv 5 v F 2174 10.6 51 1.7 Db £29.1 227.5 2115
14 A 7 T W 2.2 Al £2.6 £3.9 276 3.7 2.7 12.8
1 b4 D) 7 266.2 6.8 8.1 41 0.9 8.9 13.3 15.8
H ES 142.1 £41.2 A70.3 £64.9 £69 24.6 40.9 2.5
[ 1.8 146.4 221.5 127.9 63.0 46.1 36.4 136.5
7 b <4 7 N 331 28.0 16.6 48.8 77.3 83.0 105.1
oy 7T = 7 £6.2 2.1 0.4 £0.9 ANl £0.8 £0.5 £0.2
vk T T 3.5 0.7 0.0 216 206 0.7 1.7 NN
A ¥ v a 216.8 31 32 35 3.2 3.4 3.4 2.9
* 7 b ke 48.1 217 Y] A11.8 2184 JACINS £25.3 £30.9
—a—-Y =9 F 2104 41.5 58.8 7.3 85.5 85.4 3.6 40.1
A A 743 228 233 24T £26.9 258 262 NLE
K - 5 v F 237.3 42.2 47.4 62.6 63.4 53.4 55.1 311
A oov b oAV A31.2 L . . 256 298 288 289
vV - < = 7 £25.0 ENVAA 2247 £26.8 2204 2101 215.9 £6.2
o ¥ 7 104.7 2252 2244 A14.7 235 3.7 0.4 0.5
A ow N F 7 £6.1 £8.2 £8.9 £9.3 L85 418 £0.6 AN
A H® N =7 A3.0 £3.0 £62 AN 0.9 18 1.2 219
mo7 7 U A £216.3 £0.5 £0.4 £0.4 0.6 1.6 25 16
2 ~ A M A145.9 280 ) 291 £20.3 A21.3 2184 A15.0
A o = F v 40. 4 £60.6 £51.8 24603 1.0 27.6 22.9 24.2
A 1 A 9.1 26.8 29.0 313 30.2 30.7 24.6 16.8
b g = N394 32.4 78.3 443 61.0 67.8 50.1 61.7
A ¥ D} 2 21138 A4 Db b ATh b 2480 AB5.9 £38.8 227.3
7 A D) 7 2696.5 A5G AT2.0 A8 £89.4 21334 A157.3 21486
=2 — o &l AT £379.7 24320 24553 £418.2 £339.5 £370.1 £408.5
O ECD®%GEF AT87.4 78.3 73.5 122.6 291.9 390.0 412.5 396.0
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16 17 18 19 20 21 22 * 71
2151 231.2 2271 235 3.1 6.7 A38 TNV v F v
NAW) £35.7 ~31.8 6.0 32.8 50.8 160 £ — A2 b5 Y 7T

10.8 5.8 43 10.6 12.9 1.6 34 & — A2 VT
2.6 3.6 268 0.5 5.8 2.8 ~263 X v ¥ —
2245 2220 2515 £265.0 2245 ~27.9 ~r278| 75 vV
1.7 2.0 0.6 1.3 £20.0 0.4 207 7 v U T
2472 NN 241.0 2355 2294 0.8 A6 A + ts
£26.5 ~7.6 2133 2145 243 £220.3 ~B5|F )
191.3 188.7 241 102.9 248.8 317.3 483.3
2126 £29.9 2140 2148 29,3 A17.6 A86 2 1w ¥ ¥ 7
212 722 218 £20.8 207 221 A3l a3 A ¥ YA
0.2 0.3 0.1 0.2 £20.0 0.3 A1.0] F S a
35 33 1.1 0.8 5.1 £223 AlL5) 7 Y % s
24.3 265 2.9 29.3 21.8 36.9 47 = A b =7
0.3 0.6 0.2 0.7 £0.4 £0.9 205 7 4 ¥ T Y K
£4.8 £2.0 £5.1 £0.8 2.0 21 213 7 7 v A
2121 219.2 2235 14.0 £247.3 10.6 A495) N A b4
290.8 288.5 320.6 300.9 266.6 317.9 185.1| F ) ¥ 7
£33 23,9 D61 £23.0 2125 2145 221 N ¥ A ) —
58 2.9 0.3 1.3 1.7 A5 21000 7 4 A F v F
1.7 1.0 11 1.6 0.4 £0.4 203 A v r
Al4T7 £48.8 £56.8 2245 24.6 £237.8 a66l 4 ¥ F & ¥ 7
A17.0 2162 2306 £30.3 Db4 35 28 7T A4 NV T v F
2126 35 19.6 2787 £27.0 7.7 81| 4 A 5 T )
121 13.0 1.3 141 22.5 20.9 17.6| 1 b4 D) 7
49.7 52.2 54.6 66.5 73.7 65.1 £6.00 H ES
192.6 205.1 1771 172.7 146.3 196.5 77.5| W@
97.9 75.2 77.5 59.7 75.9 88.3 21| 7 b e 7
0.5 0.4 £0.0 £0.2 0.9 AW a1y b7 =7
£0.4 0.2 0.1 1.9 4.3 0.8 229NV kY TNV T
2.9 3.0 2.6 2.4 35 41 52| A ¥ > a
22462 £20.0 22463 234 271 248 L2220 F 7 M s
55.7 74.3 8.1 63.0 46.7 73.2 623 =2 —3Y =5 Y F
238 257 287 £6.0 225 2145 A87 7 VY oz —
148 21.7 348 1.8 2.6 7.5 1245 K — 7 » F
Dbb £2.0 £2.9 A1L7 2.4 £5.3 299 K v b A N
248 £6.0 NENA A4 14.8 £9.6 22530 Vv — % = 7
2.4 29 L4 1.0 D24 A3.0 £40] B v T
£3.0 £6.6 A2 £L12.2 2125 £20.6 £2600 A w1 N F T
D24 1.8 £2.3 235 07 £2.9 A82 A m N =T
2.1 3.0 3.2 3.2 &1 2.4 L0 W7 7Y A
286 £9.0 212.0 £10.0 6.9 15.5 06l A %A b
39.2 36.3 26.8 29.4 1.8 13.6 900 A v = — T ¥
12.3 16.0 15.0 29.4 32.3 341 184 A A 2
50.0 371 36.9 30.8 1t 59.1 51.8| b v a
£27.0 £40.8 £21.8 53 2355 2136 £249.8| A ¥ ) 2

21491 £96.9 A117.0 £81.2 £87.8 £62.9 214900 7 A D) 7
£396.2 £361.0 £439.8 £446.0 £2619.7 28464 29646 2 — =i ]
421.3 447.5 476.6 407.8 339.4 543.1 207 O E C D & &
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i 2008 09 10 1 12 13 14 15
[l
7oV ¥ T 5.4 7.3 A16 253 A2 2131 29,2 A17.6
- A +FF U7 250.7 2484 2457 2454 £268.4 2512 N 2573
- A +F U7 19.5 10.4 1.2 7.0 6.1 8.3 10.6 6.6
~ v ¥ o - 246 8.9 7.5 210.3 20,4 5.1 3.9 6.4
7 7 v v £30.9 26,4 A79.2 A76.5 284 4 £80.0 A101.7 54,8
7 v K )7 212.0 N 20.9 0.2 20.5 0.7 0.7 0.0
7 + 5 41 2L0.3 257.5 2487 2646 A58.0 £241.8 2545
F ) 26,7 3.2 31 £26.8 A11.8 2132 29,0 £26.6
e 420.6 243.3 237.8 136. 1 215.4 148.2 236.0 293.0
2 o vy ¥ 7 265 244 286 297 A11.6 2124 219.8 A18.7
a Ay )7 ~2.6 20.5 212 22,3 N2 4 VA 225 ISK
F ke = i ) AT.4 25,0 £33 o1 0.3 0.8
v w s 10.4 11.2 21.2 2.7 20.5 26.7 31.4 25.0
r A +F = 7 A2.2 0.5 0.3 0.3 £0.4 0.1 0.2 0.4
7 4 v 9 v F 7.5 4.9 3.8 23,9 25,3 249 £23.7 222
7 5 M 2 2204 A15.0 2166 NI 2059 NI £227.9 289
F 14 b 211.7 197.6 188.8 229.8 253.2 247.5 282.2 289.6
¥ 1 ¥ 7 253.9 £40.9 £30.2 £24.9 £28.7 234 1.7 Al6
AN U A3 £0.8 0.4 0.8 2.0 4.8 1.7 2.9
7 A A 7 v F Javy L1.2 £0.8 £0.7 £0.5 1.0 0.8 1.0
1 v N 72262 A374 2482 A78.3 2884 2328 £226.8 £222.5
4 v F 3 ¥ 7 0.1 10.6 5.1 1.7 I £29.1 2275 2175
7 A Vv I v F 2174 NEN) 226 23,9 276 3.7 27 12.8
4 A 7 T L 2.2 6.8 8.1 41 0.9 8.9 13.3 15.8
1 4 ) 7 266.2 aAW) A70.3 2649 049 2.6 40.9 26.5
H EN 142.1 146.4 221.5 121.9 63.0 46.1 36.4 136.5
[ 1.8 33.1 28.0 16.6 48.8 77.3 83.0 105.1
7 k 5 7 245 2.1 0.4 £20.9 A1 £0.8 205 £20.2
VoL T =7 £26.2 0.7 0.0 216 £20.6 0.7 1.7 AN
Ve TNy 35 31 3.2 35 3.2 3.4 3.4 2.9
A * N a 2168 217 S L2118 A18.4 A31.4 £25.3 £30.9
*+ 7 M Fa 48.1 47.5 58.8 77.3 85.5 85.4 73.6 40.1
-y =7 F A10.4 £2.8 £33 £4.7 £6.9 £5.8 £6.2 £4.8
JooVvoy oz = 74.3 42.2 47.4 62.6 63.4 53.4 55.1 31
K - 7 r K A37.3 AR 2247 £26.8 2204 2101 215.9 262
Kov b A31.2 AD5.2 AV A4, 7 A35 3.7 0.4 0.5
Vo o—- = = 7 25,0 282 28,9 £9.3 285 218 20.6 N
=] v 7 104.7 495 69.8 96.4 71.1 33.0 55.6 67.3
A ow N Fx 7 £26.1 £3.0 £62 AN 0.9 1.8 1.2 219
AN =7 £3.0 £0.5 £0.4 £0.4 0.6 1.6 2.5 1.6
M7 7 U A 216.3 280 ) 291 £20.3 A21.3 NEXS A15.0
2 ~ 1 M A145.9 £260.6 £51.8 £40.3 1.0 27.6 2.9 24.2
A o = 7 40,4 25.8 29.0 31.3 30.2 30.7 2.6 16.8
A A A a1 32.4 78.3 443 61.0 67.8 50.1 61.7
b WV a £39.4 NN N ATh b 2480 AB5.9 £38.8 A27.3
1 ¥ ) 2 A113.8 A75.4 A72.0 2481 £89.4 21334 21573 21486
7 X ) Vil £696.5 £379.7 A432.0 24553 AL18.2 £339.5 £370.1 £408.5
=2 - = A70.6 78.3 73.5 122.6 291.9 390.0 412.5 396.0
O E C D A& & A791.1 £215.3 21922 £307.0 2182, 1 AT7.9 £22.2 27.6
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2151 231.2 2271 235 31 6.7 A3 T OV ¥ v F v
£41.2 A35.7 231.8 6.0 32.8 50.8 160 & — A b7 1) 7
10.8 5.8 4.3 10.6 12.9 1.6 34 & — A VT
2.6 3.6 248 0.5 5.8 2.8 2263 R )2 +* —
2245 2220 251.5 265.0 2245 2279 2218 7 7 v )2
1.7 2.0 0.6 1.3 20.0 20,4 2071 7 v )T
2472 2b6. G 241.0 36,5 2294 0.8 AN + 5
26.5 AT.6 2133 2145 243 £20.3 2055 F D)
191.3 188.7 2.1 102.9 248.8 317.3 483.3|
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1.2 222 1.8 0.8 20.7 221 A3 T A ¥ YA
35 33 1.1 0.8 5.1 £2.3 2115 F ES =
24.3 2.5 25.9 29.3 2.8 35.9 & 7 v 4
0.3 0.6 02 0.7 £0.4 £0.9 A05) = 2 b =7
£4.8 £20 £51 £0.8 20 21 &130 7 4 ¥ 7 v F
2121 219.2 2235 14.0 £47.3 10.6 2495 7 7 M 2
290.8 2885 320.6 300.9 266.6 317.9 1961 F 1 v
233 23.9 26,1 23.0 212.5 A14.5 A12.1 F D) v 7
58 29 03 413 FAN 475 at0.00 N ¥ oY =
17 1.0 11 16 0.4 £0.4 203 7 A4 A 7 v F
14,7 £48.8 £56.8 D245 24.6 £37.8 A116.6) A b F
217.0 216.2 £30.6 £30.3 Lb.4 35 128 4 ¥ F &~ ¥ 7
2126 35 19.6 A78.7 £27.0 7.7 81| 7 A4 N F »r F
12.1 13.0 1.3 141 225 20.9 176 4 A 7 T b
49.7 52.2 54.6 66.5 3.7 65.1 £6.0] 1 F4 Y 7
192.6 205.1 177.1 172.7 146.3 196.5 77.5| H ES
91.9 5.2 71.5 59.7 7.9 88.3 29.1| #
0.5 0.4 £0.0 £0.2 09 A A4 k < 7
£0.4 0.2 01 19 43 0.8 2270 b 7 =7
29 3.0 26 24 35 41 520 WU kv TNV
£24.2 £20.0 2243 234 27.1 248 222,00 A * ¥ =
55.7 74.3 85.1 63.0 46.7 3.2 62.3| * 7 M I
23.8 £5.7 28.7 £6.0 025 21465 L1877 2=V =T U F
14.8 21.7 34.8 1.8 26 7.5 1245 /v o7z =
£4.8 £6.0 NN NN 14.8 £9.6 8253 K — 7y F
2.4 29 14 1.0 £2.4 £3.0 L4400 K v b AV
23,0 £26.6 21,2 2122 2125 £20.6 2200 Vv o — <% = 7
244 31.8 13.7 66.9 329 25.0 306 © v 7
L2.4 A1.8 £23 £35 0.7 £2.9 2820 A @ N X 7
2.1 3.0 3.2 3.2 &1 2.4 201 A @ X = 7
£8.6 £9.0 212.0 £10.0 6.9 15.5 o6l M T 7 U A
39.2 36.3 2.8 29.4 7.8 13.6 9.0 A ~ A1 M
12.3 16.0 15.0 29.4 323 341 184 A U = — T ¥
50.0 37.1 36.9 30.8 11 59.1 51.8| A 4 A
£27.0 £40.8 £21.8 53 23655 213.6 £49.8| b v a
21491 £96.9 A117.0 £81.2 £87.8 £62.9 2149.0| A ¥ D) A
£396.2 £361.0 £439.8 2646.0 £619.7 2846, 4 29645 T A D) 7
421.3 447.5 476.6 407.8 339.4 543.1 200.7| — =] 2]
122.3 217.3 132.4 164.5 £52.8 99.0 A729.6)] O E C D & &
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il

VAN B S 1.5 2.1 204 21,0 204 22,2 A16 22.8
=2 707 4T 2b6 23,6 23.0 Db b A3 4 231 247
t = A2 b U7 45 26 2.9 1.6 1.5 1.9 2.5 1.7
~ v Foo— 1.0 1.7 1.6 21,9 201 1.0 0.8 14
7 7 v v ~1.8 215 736 22,9 A3 4 23,2 242 22,9
7 v )T 2220 283 SN 0.3 0.8 1.3 1.2 20.0
Vil + 5 0.1 22,9 736 22,7 235 23,1 223 235
a D) pava} 1.9 1.4 Yavivi pavys YV A3 4 22,8
s 9.2 48 3.9 1.8 2.5 1.5 2.3 2.7
a o v ¥ 7 n27 21,9 23,0 229 A3 232 25,2 £26.3
= S S 28,3 217 73,2 25,3 251 24,8 24T 234
F x a 1.9 £20.9 20,3 £0.2 202 £0.1 0.0 0.4
7 v X 7 2.9 £2.3 £3.6 L2.1 415 £0.5 0.2 0.4
r A +F = 7 287 35 6.6 6.6 6.3 7.8 8.9 8.3
7 4 v 7 v F 2.5 2.5 16 1.2 219 0.4 07 18
7 7 M 2 20,7 2.0 1.5 A4 £2.1 21,8 A1.3 £0.9
r A P4 5.6 £0.6 20,6 £0.9 210 £0.5 A1.0 £0.4
F D) ¥ 7 A15.1 5.8 5.6 6.1 7.2 6.6 7.3 8.6
No¥Y Ty = AT 2123 2101 £8.8 235 AW 207 £0.8
7 4 A 7 v F £220.8 £20.7 0.3 0.6 1.6 3.5 1.2 2.3
1 M F £2.2 289 £6.1 247 236 6.3 4b 5.6
4 v F %x ¥ 7 0.0 £2.8 £2.9 243 248 W 213 NN
7 4 Vv 5 v F £26.3 18 0.7 0.2 227 231 231 £2.0
4 A 7 T N 1.0 £4.7 A1.2 216 L34 L6 11 4.4
1 4 ) 7 £2.8 3.2 3.4 15 0.4 3.0 4.2 5.2
H ES 2.8 219 £33 £2.8 £0.2 1 19 14
L4 0.4 2.8 38 21 1.0 0.9 08 31
7 b | 7 212.3 3.6 25 13 3.8 5.6 56 7.2
vy b7 = 7 213.0 7.7 1.7 234 237 £22.8 216 206
Ve TN T 6.1 1.9 0.0 £3.7 A5 1.5 3.4 £2.5
A ¥ v a 216 58 58 56 53 51 49 4.8
+ 7 > 5 5.0 £0.9 £0.4 A1.0 2415 £25 419 £2.7
2=V =7 F AT 5.4 6.9 85 10.2 9.8 8.2 5.2
A A 15.8 £2.3 022 £2.8 £3.9 431 £3.1 £2.7
K- 7 ¥ B £26.9 10.8 1.0 12.5 12.4 10.2 1.0 8.0
NI 2 | 2 A11.8 . = 029 249 Ay N
Vo o—- < = 7 2114 239 251 £5.1 ) £2.0 22,9 )
o v 7 5.8 £210.3 £10.3 £6.0 216 1.6 0.2 0.2
A-om N F 7 £26.2 ') 252 AV Ak 210 203 £0.8
A 1 X =7 25,3 L34 L4.6 £4.9 0.9 1.9 11 £2.1
w7 70 A £5.0 A1 20.8 £0.8 13 33 51 38
2 ~ 1 M 28,9 D24 A1.3 £2.0 24,7 £5.3 £4.8 £4.3
A o — F 7.7 241 237 227 01 2.0 17 2.0
A A A 1.5 59 58 5.4 55 52 4.2 33
b W a 25,0 5.7 13.0 6.2 8.9 .6 6.9 8.9
1 F 1 A 23,9 217 057 288 D54 258 242 231
7 A ) 7 AT £3.2 £2.9 218 233 AV 252 £5.1
z - =) £0.5 £26 £2.9 £2.9 £2.6 £2.0 221 £22
O E C D & & 217 0.6 0.6 0.9 2.3 3.0 3.1 3.4
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o i 2008 9 10 1 12 13 14 15

7oV ¥ T 1.5 2.1 204 A1.0 204 2.2 A16 228
= A FF7 07 AL 246 236 23,0 Nb b 234 231 N
- A +F U7 45 26 2.9 1.6 1.5 1.9 2.5 1.7
~ v ¥ - 21,0 1.7 1.6 21,9 201 1.0 0.8 14
7 7 v v 1.8 215 236 22,9 A3 4 23,2 242 ~2.9
7 v K )7 £222.0 28.3 A17 0.3 20.8 1.3 1.2 20.0
7 + 5 0.1 22,9 236 22,7 235 231 223 235
F ) 240 1.9 1.4 227 2bb 248 234 22.8
e 9.2 48 3.9 1.8 2.5 1.5 2.3 2.7
a o v ¥ 7 227 21,9 23,0 22.9 231 232 25,2 £26.3
a Ay )7 28.3 A7 232 253 251 248 24T 234
¥ ES = A1.9 £2.3 £3.6 L2.1 415 £0.5 0.2 0.4
VA ¢ 7 2.9 35 6.6 6.6 6.3 7.8 8.9 83
r A +F = 7 8.7 2.5 1.6 1.2 £1.9 0.4 0.7 18
7 4 v 9 v F 2.5 2.0 1.5 NN 221 NN A3 £20.9
7 7 v A £0.7 £0.6 £0.6 £0.9 £1.0 £0.5 £1.0 £0.4
F A P4 5.6 5.8 5.6 6.1 7.2 6.6 7.3 8.6
+ D) v 7 4151 £12.3 2101 L3838 L35 AN £0.7 £0.8
AN U AT £0.7 0.3 0.6 1.6 3.5 1.2 2.3
7 A A 7 v F 220.8 £8.9 £6.1 PAY' N £3.6 6.3 Ex 56
14 v N A2.2 £2.8 £2.9 £4.3 AR 217 L1.3 A1
4 v F x ¥ 7 0.0 1.8 0.7 0.2 £2.7 431 L3101 £2.0
7 A4 Vv I v K £26.3 247 21,2 216 N34 1.6 1.1 4b
4 A 5 I 1.0 3.2 3.4 1.5 0.4 3.0 42 52
1 4 Y 7 £2.8 219 £33 £2.8 £20.2 1 1.9 L4
H EN 2.8 28 38 21 1.0 0.9 0.8 31
[ 0.4 3.6 25 1.3 38 56 5.6 7.2
7 b <4 7 A12.3 7.7 1.7 L34 £3.7 £2.8 416 £0.6
vy b7 = 7 213.0 1.9 0.0 237 A1.5 15 3.4 £25
)27 D A A 6.1 5.8 5.8 56 53 5.1 L9 48
A ¥ v a A16 20.9 £0.4 A21.0 £L1.5 £2.5 AR £2.17
+ 7 b Fa 5.0 5.4 6.9 8.5 10.2 9.8 8.2 52
—a2-=Y=3vF AT 223 222 £28 23,9 231 231 £22.7
JooVvoy oz = 15.8 10.8 1.0 12.5 12.4 10.2 11.0 8.0
K - 5 v F £26.9 239 25,1 251 AN £2.0 £2.9 213
D A S 2118 210.3 £210.3 £6.0 A6 1.6 0.2 0.2
Vo o—- = = 7 A4 24T ) 2LE NLT 21,0 20.3 £0.8
=] v 7 5.8 3.7 4.3 4.7 3.2 14 2.1 49
AomoN F 7 £26.2 L34 JAYS) AN 0.9 1.9 11 £2.1
AN =7 £5.3 AN £0.8 £0.8 1.3 3.3 5.1 3.8
M7 7 U A 25.0 D24 413 £2.0 £4.7 £5.3 £4.8 £4.3
A ~N 1 v £8.9 Lb1 £3.7 £2.7 0.1 2.0 1.7 2.0
A o = 7 7.7 59 58 5.4 55 5.2 4.2 3.3
A A A 1.5 5.7 13.0 6.2 8.9 9.6 6.9 89
b v a 25,0 A7 £5.7 £8.38 £5.4 £5.8 £4.2 £31
1 ¥ P A £3.9 £3.2 £2.9 A8 £33 L4438 £5.2 £5.1
7 A Y 7 LT £2.6 £2.9 £2.9 £2.6 £2.0 £2.1 £2.2
=2 — o 0.5 0.6 0.6 0.9 2.3 3.0 31 3.4
O E C D & & AT £0.5 £0.4 £0.6 £0.4 £0.0 £0.0 0.1
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